The average residence time for atmospheric carbon dioxide is 150 years. Please see https://cctruth.org/cctruth.pdf. This is why
there is zero effect of any emissions work or recession. More than 2000 PhD’s agree with this. On Netflix or YouTube watch, kiss the
ground movie.

The stopping of the destruction of the Indian rainforest and planting of 6 billion trees is already effecting atmospheric carbon dioxide.
The current monthly data at Mauna Loa shows flat carbon dioxide rise when it should increase 1.5 ppm on average. This increasing
in photosynthesis is lowering the data in the graph every time it tried to increase. You can see this in the data. Carbon Cycle
Greenhouse Gases In the attachment is the result of an experiment which proves we can plant native trees and shrubs instead of
grass and they will consume most if not all the carbon dioxide from the vehicles.

@jairbolsonaro @MartinVizcarraC @alvorada_palace, @MichelTemer

@Peru @lvanDuque @evoespueblo @MashiRafael @MOTPGuyana @govsuriname @maduro_en @Lenin

Stop Deforestation NOW! Peru stopped! Now Brazil must Stop! https://riotimesonline.com/brazil-news/rio-politics/stop-amazon-
rainforest-deforestation-sponsored/

Donate Please: https://kindest.com/963466-climate-change-truth-general-funds.

Stop working on emissions of CO2 and plant trees! Change logging from clear cutting to strip logging.



